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( Instructions

-

You may not use a calculator to answer any questions in this test.

Questions and answers

You have 40 minutes to complete this test.
Follow the instructions for each question.
Work as quickly and as carefully as you can.

If you need to do working out, you can use the space around the question.
Do not write over any barcodes.

Some questions have a method box like this:

For these questions, you may get a mark for showing your method.

If you cannot do a question, go on to the next one.
You can come back to it later, if you have time.

\If you finish before the end, go back and check your work.

-

.

Marks

The number under each box at the side of the page tells you
the maximum number of marks for each question.
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Look at the table showing factors.

(Write one number in each box

One is done for you.

factor of 36

not a factor of 36

factor of 24

12

not a factor of 24

Ref: 5Cbha

O

2 marks
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The thermometer shows the temperature on Tuesday.

10° 20°

The temperature on Monday is 5°C colder than Tuesday.
The temperature on Friday is 5°C hotter than Tuesday.

CWrite the temperature for Monday and Friday )
Monday is °C
Friday is °C

Ref: 5N5

1 mark

1 mark
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Look at this number :
21,304

CDraw beads on the abacus to make the number )

1 mark
Ten thousands Thousands Hundreds Tens Ones

Look at this number :

1.02345

CWrite the digit that is in the one thousandth place )

1 mark

Ref: 5N3a, 5F6b
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n Some people raised money for Children in Need.

This chart shows how much each person raised.

Target £
£500 .
raised

450
400
Jane 350
— 300
250
Laura 200
Poppy 150
Henry 100
David S0

CWrite the names of the people who raised more than £60 )

1 mark

(How much did Poppy and Laura raise altogether )
: )
1 mark

Ref: 4S1
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Henry added the cup of juice to the jug.

\

CWhat is the new level of juice in the jug )

ml Q

1 mark

Ref: 3M9
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x 10

———
)

=10

———

a Here are six cards

)

x 100

———
)

+100

———

x 1000

+ 1000

———

(Use a card to complete each calculation

123.4

123.4

123.4

)

= 123400

=0.1234

=12.34

Ref: 5C6b

O

2 marks

(Write the number 98, 754 in words

Ref: 5M2

1 mark
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a Draw a reflection of this shape in the mirror line.

Mirror

3 V line
7 I

[
6
5 |
4
5 /
2 R
1

]
0 X

1 2 3 4 5 6

CWhat are the co-ordinates of A after the reflection? )

( ’ ) 2 mark

Ref: 6P2
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a The banana balances with three weights

15g 25g 50g

CHOW much would 15 bananas weigh in kilograms )

kg |

()

2 marks

Ref: 5M9c
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The volume of this cuboid is 350 cm?®

10cm

LN
¥ Y 7cm

?cm

What is the length of the missing side?

o H[O

2 marks

Ref: 5M9d
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A bag of 4 lemons costs £1.12
A bag of 5 oranges costs £1.75

] Q

2 marks

Ref: 4F10b
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CWrite the missing digits to make this addition correct. )

2 oo o

[1] 67

-
A
-
—

I

o
)

®

1 mark

Ref: 4C2
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Coventry is 7.86 km west of Poppy’s house.
Nuneaton is 5.69 km east of Poppy’s house.

Ce€ P >N

(How far apart are Coventry and Nuneaton? )

=] O

1 mark

Ref: 5F10
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Look at the fraction cards.

2 5 7 9
3 6 9 12

CUse any three of the cards to make this correct

)

<

<

Ref: 5F3

1 mark
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Look at the number pyramid

The number in a box is the product of the two numbers

below it.

CWrite the missing numbers

)

30

7.5

1.6

Ref: 6F9

O

2 marks
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Here is quadrilateral, not drawn to scale.

4cm

105°¢

cm

5.5cm

Draw the quadrilateral accurately below. Use a

protractor and ruler.

Ref: 6G3a

1 mark
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There are 20 children in a class.

Q0000000

1222 122%

0000

FRIREARR

® 000

TRAR

- - - -

Girls are shown in pink.

CWhat percentage of girls are there in the class )

%

Ref: 5F12

1 mark
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Henry picks a number more than 50
He divides it by 6 and then adds 11
He then multiplies this result by 2.5

His answer is 50

(What was the number he started with? )

@,

2 marks

Ref: 6C8
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19

A stack of 15 tokens is 45 cm tall.

Poppy took four tokens off the top
CHOW tall is the stack now )

Ref: 6R1

O

2 marks
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A school playing field needs seeding with grass seed.
The playing field measures 66m by 102m.

Grass Seed
Covers 17m?

One box of grass seed covers 17m?

CHow many boxes will be needed to seed the pitch. )

3 marks

Ref: 6C7a/6C7c
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